Zug des Jahres 2022

"Super-Dienstag"-Training, 13. Dezember 2022, Rolf Knobel

Ivanchuk, Vasyl - Van Foreest, Jorden [D40]
13th World Teams Pool A Jerusalem ISR (5.1),
22.11.2022

1.d4 d5 2.c4 e6 3.50\c3 ¢5 4.cxd5 exd5 5.)0\f3
Nf6 6.3 a6 7.b3 Nc6 8.2b2 Ag4 9.8e2
Hxf3 10.2xf3 cxd4 11.exd4 £b4 12.0-0 0-0
13.0a4 He8 14.40c5 b6 15.,0d3 £.d6 16.Ec1
Hc8 17.Hel Hed 18.He2 Wd7 19.Hec2 Nf6
20.83 g6 21.£2.g2 Flc7?! 22.1f1 He7?!
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23.2h3 We8 24./0e5 {Hb8 Sonst fillt ab
25.2a3! Ablenkung 25..%d8? 25..Hxc2
26.82xc2 Hc7 (26...2xa3 27.Bc8+) 27.8xc7 £xc7
28.Wcl Wds (28...&xe5 29.dxe5 Wxe5 30.£b2
d4 31.Wc8+ We8 32.Wxe8+ Hxe8 33.&2xd4 b5
34.£g2+) 29 We3 =+
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26.2d7"! Der Zug des Jahres. Nowotny. 26.5xc7
Hxc7 27.Bxc7 Wxc7 28.2xd6 Wxd6 29.Wcl Wds
30.£g2 26..Hexd7 26..£xa3 27.Exc7! £xcl
(27..g7 28.Hc8+- (28.4xf6l?) ) 28.Hxf6+
(28.Hc8!?) 28...&g7 29.Wxcl HExc7 30.Wxc7 Wxc7
31.0e8++—; 26..Hxc2 27.xt6+ &g7 28.Hxc2
£xa3 (28...%xf6 29.Bc8+-) 29.Hc8+-;
26..0bxd7 27.Bxc7! (27.2xd6 EHxc2 28.Exc2
He8 29.Wxabx) 27..8xc7 28.&xe7 Wb
29.Wxab+—; 26..0fxd7 27.Bxc7! (27.2xd6 Hxc2!
28.8Hxc2 Be8+) 27...2xa3 (27...2xc7 28.&xe7+-)
28.Hc8!+—; 26..Hcxd7 27.£xd6 Hxd6 28.Hc8+-
27.8xd6 EHxc2 28.Hxc2 EHxd6 29.Hc8+-
®Wxc8 30.2xc8 Nc6 31.Wxab Hxd4 32.¢9g2

g7 33.b4?! 33.Wa3+- 33...0c2 34.Wa4 Hel+
35.0f1 Hf3 36.8d1 Hes5 37.Wd4 N3
38.Wif4?! QHNed 39.Hg2? HNel+ 40.Hf1 HNA3
41.We3 HNAxf2 42.Wd4+ Hg8 43.a4 EHcb
44.8a6 EHcl+ 45.59g2 HNg4a?! 46.2d3? Hdl
47.a5 Hd2+ 48.9g1? QpNef2 49.Wxd5? Hh3+
50.f1 He3+ 51.¢hel Hdl+! 52.he2 Hxd5
53.¢xd1 N2+ 54.d2 Hxd3 0-1

Vukcevich, Milan: White to play and win
Schach-Echo Mate in 2, 1976
[Speelman,Jonathan]
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This beautiful problem is also in the Wikipedia
article. The solution is 1.8d6! Threatening 2.Ne5
or 2.Nxd2 mate. 1..2xd6 The first of two
thematic Novotny variations. 1..Hxd6 2.e5#;
1..&d5 pinning the knight. 2.%xa3#; 1..e5
pinning the knight. 2. Wf6#; 1...Hxa7 This and
the next line take the bishop so that e3 isn't
guarded. 2.%Wd3#; 1..&xa7 2.Wf4i# 2.0xd2#
1-0

Benko, P: White to play and win
[Knobel,Rolf]
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1.e7 1.g7? Hg30 (1...Ed8 2.Hd6+-) 2.7 £h5
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3.2g6 Nowotny 3..Hxg6O (3..2xg6 4.&f2!+-)
4.e8W Ef6+0 5.&el (5.&g1 £xe8 6.g8W Hgh+=)
5..8xe8 6.g8W &d70= Tablebase 7.%d8
He6+O 8.2f2 &2c60 9.%Wc7+ £b70= 1..He3
1..Zf3+ 2.&el a) 2.&g2? He3 3.g7 £b3 4.Hc7+
&b60 5.2c3 £d5+0=; b) 2.&gll? Hg3+ (2...He3
3.g7 £b3 4.Hc7+ Lab 5.12 sieche Hauptvariante)
3.&h2l? He3 4.Hcl! 213 (4..2h5 5.g7 217 6.e8W!
Hxe8 7.Hc7++—; 4..2b3 5.Hal+ &b6 6.Ebl+-)
5.Bc3l+-; 2...He3+ 3.&xdl Hxe7
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4.2cS5+— Turm hinter den Freibauern!(4.Zf6?
HeS5O=; 4.&d2? Hed4O=) 2.g7 2.Hc7+? &b60O
3.g7 &xc7 4.g8%W de2+ (4..Hxe7= TB) 5.%f2
Hxe70=TB 2...2b3
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3.8c7+ 3.He6? Nowotny 3..Hxe6 (3...&xeb?
4.50214-;  3..8c4+=) 4.g8%W dc4+0 5.Df2
(5.%gl Hel+O=) 5..He2+ 6.&f3 &xg8 7.&xe2
£f7= 3..9a6 3..&b6 4.Hc3l+- 4.Hf2! He4d
4...He5 5.2c6++— 5.Hc6+ 5.3 Hel 6.5f2! Hed
7.Bco++- 5..Ha5 5..La7 6.Heb+—; 5..&b7
6.2e6+-
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6.He6! Jetzt geht der Nowotny! 6...Hxe6
6...xeb 7.e8W+- #16 TB 7.g8W Ef6+ 8.chgl!
8.&e3? &xg8 9.e8W Heb+; 8.&0g2? £xg8 9.e8W
£d5+0 10.&gl Hd6= (10...Eb6=) ; 8.2g3? £xg8
9.e8%W HfiO= TB 10.We2 HEblO 11.%d2+
&a40=TB 8...2xg8 9.e8&+- 1-0

Nielsen-@stmoe-Rewitz

Chess Atrtistry Adventure, 13.07.2022

Can you spot the weak point in Black's position?
Turns out, it is a6!

1.20h5+ Hh8 2. Wxe4 Wb8! 2..Wxb6 3.Wxf4
Wxd4 4.Wxh6+ Hg8 5.£2b3++- 3.2xc6 3.Hxab
bxab 4.£xc6 (4.0f6 &g7=) 4...»xc6= and Black
defends.; 3.Exc6 Hxcb 3...8xd6! Black starts
counterplay based on White's weak back rank.
The natural 3...40xc6 runs into 4.Hxc6! (4.0f6
£d3 5.Wxd3 &g7 6.0h5+ &h8w) 4.. We8
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5.2c8!! Bxc8 6.d7!! Wxd7 (6..Wxe4 7.dxc8W+
&h7 8.0f6++-) 7. We5+ &g8 or Kh7 8.f6+1+—;
3...0d3 4. We7 WSS
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5.Bxa6! c2 (5.bxab6 6.£xa8) 6.Wf6+ Wxf6
7.Bxa8++- 4.8a4! 4.2d5? £d3 (or 4..%c6 )
5.Wel Hc2 (5...5c6) 6.Bxd6 Hxel 7.Bxh6+ £h7
8.Le4 Hal= 4...c2!1? 4...2d3 5.Wxb7+-; 4.. Wxb6
5.Wes+; 4..Dc6 5.8c2 £d3 6.%Wxd3 Hal+
7.Bbl+- 5.82xc2 5.Bxd6 c1¥+—+ 5...2d3
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6.Ha6!! The study was inspired by the move
24..Rxa3!! in Mikenas - Bronstein, Tallinn 1965
This Bronstein—inspired move leaves Black with
6 bleak options: 6.Exd6?? Eal+; 6.£xd3?? Hxd3—
+ (6...Bal+=); 6.Wel? Hxc2—+ 6...40xa6 6...EbS
7.Bxd6 £xe4 8.&xed+—; 6..82xe4d 7.Hxa8+ &h7
8.&xed++—; 6..82xa6 7. Wh7#; 6..Exab6 7. WeS+
&h7 8.Wf7++-; 6..Wxab 7.WeS++—; 6..bxab
7. Wxa8+ &h7 8.Wa7+ &gb 9.£d1+- 7.2xd3
Wc7 8.h4! Hb4d 9.2c4 and White's attack
breaks through 9...f3!? 10.gxf3! b8 10...%d6
11.d5 11.%e7 Wf8 12.Wes5+ Hh7 13.¢%g2!?
13.0f4? He8!= 13...Hal 14.5h2!? Ha8 15.0f4
He8 16.2e6 EHxe6 17.0xe6 f7 18.d5+-
https://www.chessbase.in/news/ Chess—Artistry-
Adventure—at-Global-Chess—Festival-2022 1-0



